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1. 20%)

Find the general solutions:
dy &

a) ?—4E+53y =0

2
b) xz-c—;x——f-t-Zx%—Gy:O

2. 20%)
a) Evaluate the line integral

[xdde— 2dy + ydz
C
If C is given by
x=,y=—t,z=t*  1s5t<2,
b) Using Green’s theorem to evaluate the line integral
[0 -8y)dr+ (2xy +8x)dy
: |

If C is the circle
xz +y2 =1.
3. 20%)
Let f(x,y)=x+2xy+2y’ +6x+4y+4

a) Compute ?L?_f_’é’_z_{_ﬁz_
ooy’ ax* axdy

b) Find the extreme point and classify it is maximum or minimum.
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4-- Find a solution of P for the matrix equation P A=B where

259 110 0.5
'3 A={1 0 1| and B=j 1
, 01 -1 -0.5

779 Find the Fourier series representation of

a). A sawtooth wave f(z) =z, —w <z <,
-~ b). A triangular wave

'__ z, O<z<w
g(z)-{_m’ —-r<z <.




